490866 - SYMMETRIC 70 E CH Page 1 of 4

http://ekat.festool.de/EKAT/jsp/main.jsp?doAction=printAssembly&select=currentim... 02.07.2008



490866 - SYMMETRIC 70 E CH

Page 2 of 4

Teile Preis
Pos|| - Benennung Menge||ohne Wahrung
N MWSt.

[1 |[491204 |[Anker 230v la | llche |
|2 [[491209 |[Feldpaket 230V la | lche |
[3 |[490651 |[schaiter 120v la | lcHr |
[4 |[457410 |[kabel EU x| lche |
|4 |[472808 ||kABEL M.STECKER la | llche |
|5 |[432436 |[Kabelschutzschlauch la | llche |
|6 ”490922 ||Litzensortiment ||1 || ”CHF |
[7 |[461241 |[Genause la | llche |
l[8 |[490878 |[Electronic 230v la | lcHr |
lo |[461242 |[cenausedeckel x| lche |
[10 |[461949 |[stelirad la | llche |
[11 [[491440 |[Deckel la | llche |
[12 |[491441 |[Kohlehalter 230V la | llche |
[13 |[461397 |[Motortrager la | llche |
[14 |[400680 |[Rillenkugellager la | lcHr |
[15 |[644927 |[Lufter x| lche |
|16 |[461236 |[Luftfiihrung la | llche |
[17 |[789575  |[Rillenkugellager la | llche |
|18 |[219080 |[Linsenschraube PT 4,0 x 40 la | llche |
|19 |[223541  |[zylinderschraube M 6 x 18 DIN 6912 Iz | S
|20 ”434135 ”Sechskantmutter ||1 ” ”CHF |
[21 |[228642  [[scheibe la | lcHr |
|22 |[733292  |[Halteplatte la | llche |
|23 |[732835  |[scheibe la | llche |
|24 |[491467 |[Lagerbock la | llche |
|25 ”461234 ”Spannfuhrung ||1 || ”CHF |
|26 ||491445 ||zugfeder Iz | lcHr |
|27 ”434180 ”Sechskantschraube ||1 || ”CHF |
|28 |[228689 |[sechskantmutter M 6 DIN 934 x| lche |
|29 |[491446 |[Rastbolzen x| llche |
|30 |[415839  |[Nadelniilse la | llche |
[31 |[461879 |[zahnrad x| llche |
[32 |[732826 ||Dichtung Iz | CHF

|33 |[401244 |[sicherungsring l2 | lcHr |
[34 |[401576 |[Rillenkugellager Iz | lche |
|35 |[491447  |[Getriebedeckel | llche |
|36 |[400095  |[zylinderschraube le | llche |
|37 ”400477 ”Zylinderschraube ||4 || ”CHF |
[38 |[217149  |[scheibe la | lcHe |
[39 |[228519  ||zylinderstift la | lcHr |
[40 |[732770  |[Trager x| lche |
|41 |[733422  |[Bundbuchse | llche |
|42 |[733361  |[Lagerbricke la | llche |

http://ekat.festool.de/EKAT/jsp/main.jsp?doAction=printAssembly&select=currentim... 02.07.2008



490866 - SYMMETRIC 70 E CH Page 3 of 4

|43 ”733287 ”Flachzahnriemen ||1 ” ”CHF |
|44 |[200764 |[scheibe Iz |l lche |
[45 |[400576  ||zylinderschraube | ENE | lcHr |
|46 |[491449  |[Riementrieb x| lcHr |
|47 |[461239  |[Riemenabdeckung la | lcHr |
|48 |[219071  |[Linsenschraube PT 4,0 x 12 s | llche |
|49 |[461244  |[Deckel la | llche |
|50 |[491053 |[Prazisionsschmiege SM-SYM 70 la | lcHE |
[51 |[400714 |[Bolzen M 6 x 12 - LH DIN 912 - 8.8 la | lcHr |
[52 |[491450 ||Aufnahmeflansch x| lcHr |
|53 |[771392 |[sicherungsring la | llche |
|54 |[400685 |[scheibe la | llche |
|55 |[491451  |[zugfeder la | llche |
|56 ”491452 ||Pende|schutzhaube ||1 || ”CHF |
|57 |[842286 ||Lehrenband la | lcHr |
|58 |[559075 |[puffer l2 | lche |
|59 |[461881  ||werkzeugwelle la | llche |
|60 |[459742  |[Achse l2 | llche |
|61 |[459741  |[Druckfeder l2 | llche |
|62 |[436195  |[Drehknopf KF 4 E M 6X 10 D 23 M 6 x 10 D 23 l2 | lcHr |
l63 |[228566 ||vierkantmutter M 6 l2 | lcHr |
|64 |[491938 |[Anschlag x| lche |
|65 |[459739  |[Leiste la | llche |
|66 |[491453  |[Exzenterhebel l2 | llche |
|67 |[491454 |[puffer x| llche |
|68 |[491455 |[Tisch la | S
l69 |[491456  ||winkelskalasymetric la | lcHr |
[70 |[491054 |[Tischeinlage TE-SYM 70 x| lche |
[71 |[434131  |[Flachkopfschraube la | llche |
[72 |[491457  ||Ausiosehebel la | llche |
|73 |[228713  |[Linsenschraube PT 4,0 x 16 la | llche |
[74 |[403100 |[scheibe la | S
|75 |[727814  ||Drenfeder la | lcHr |
[76 |[491458 |[kabelschelle x| lche |
[77 |[461381 |[kabelbaum 230v x| lche |
|78 |[491459 |[schwinge la | llche |
|79 |[491460 ||Abdeckung la | llche |
|80 |[491939  |[Anschlag x| llche |
[81 |[491461 |[Tellerfeder I | lcHe |
[82 |[491462  |[Lasche l2 | lche |
|83 |[228686 ||Linsenschraube M 5 x 14 l2 | lche |
|84 |[460185 |[Fuhrung | llche |
|85 |[490894 |[Gleitstiick la | llche |
|86 |[459740 |[Leiste x| llche |
|87 ||491463 ”Transportsicherung ”1 ” ||CHF |
= I I I I .

http://ekat.festool.de/EKAT/jsp/main.jsp?doAction=printAssembly&select=currentim... 02.07.2008



490866 - SYMMETRIC 70 E CH Page 4 of 4

|88 ”491464 ”Abdeckung ||1 ” ”CHF |
|89 |[491465  ||Abdeckung la | lche |
|90 ”258598 ”Flachkopfschraube ||2 ” ”CHF |
|01 |[639095 |[Rolle l2 | lche |

http://ekat.festool.de/EKAT/jsp/main.jsp?doAction=printAssembly&select=currentim... 02.07.2008



